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. 03,3,5]
(). extends JApplet implements ActionListner
yen.addActionListner(this);
euro.addActionListner(this);
(ii).
if (evt.getSource()==yen) {
int 'y = Integer.parselnt(yen.getText());
euro.setText(""'+y/145);
} else {
int e = Integer.parselnt(euro.getText());
yen.setText(""'+e/145);
(iii). |}
V. 03,3,4,4, 4
0 GridPoint  extends Point
(i it grid;
' System.out.printi("{%d, %d)",
(iii). x/grid*grid, y/grid*grid);
. (2, 4)(10, 195)
(iv).
v, |2 4z, 17)
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extends JApplet implements ActionListner
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テキストボックス
yen.addActionListner(this);
euro.addActionListner(this);
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テキストボックス
if (evt.getSource()==yen) {
  int y = Integer.parseInt(yen.getText());
  euro.setText(""+y/145);
} else {
  int e = Integer.parseInt(euro.getText());
  yen.setText(""+e/145);
}
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str1.charAt(i)
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GridPoint extends Point
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int grid;
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System.out.printf("(%d, %d)", 
                   x/grid*grid, y/grid*grid);
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(2, 4)(12, 17)


V. 03,3335

(). extends JApplet implements Runnable
thread = new Thread(this);

) thread.start();

(ii).

gip, |thread = null;
super.repaint(g);

(V). | g.drawString(str.substring(i, i+8), 10, 40);
if(++i > str.length()-8) { i=0; }
repaint();
try {

Thread.sleep(100);
} catch (InterruptedException e) {}

(V).

ooooooogn
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extends JApplet implements Runnable
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thread = new Thread(this);
thread.start();
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thread = null;

kagawa
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super.repaint(g);
g.drawString(str.substring(i, i+8), 10, 40);

kagawa
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if(++i > str.length()-8) { i=0; }
repaint();
try {
  Thread.sleep(100);
} catch (InterruptedException e) {}




